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Autor 3 a = s s s 53 s s s s o = s s s 53 ° Rang
Judith Schibler Buchs/Sargans|  03:08 7 7 7 6 7 8 9 8 6 7 9 9 8 7 9 114 GOLD
Bére Hene und Ursi Bern 03:53 8 8 7 7 7 8 8 5 6 6 8 9 7 7 8 109 SILBER
Oliver Kuonen Brig 04:15 6 5 7 5 6 9 9 7 8 7 8 6 9 6 10 108 BRONZE
Jiirg Widmer Romanshorn 00:52 6 6 5 5 5 7 9 6 7 7 8 9 8 6 6 100
Pierre von Ballmoos Biel 04:05 6 6 5 6 6 7 6 8 8 7 7 8 6 7 6 99
Karl Amstutz Luzern 06:25 7 7 7 6 7 6 5 5 7 4 7 7 6 6 6 93
Jiirg Widmer Romanshorn 04:13 5 6 6 6 5 5 4 6 7 6 8 7 7 8 5 91
Bire Hene und Ursi Bern 08:29 6 6 5 6 6 4 5 4 6 5 7 8 7 8 7 90
Bire Hene und Ursi Bern 06:32 6 5 6 5 6 5 5 7 5 6 6 7 7 6 6 88
Max Solenthaler Romanshorn 07:00 5 5 6 6 5 5 4 3 4 5 6 7 8 7 6 82
Oliver Kuonen Brig 09:15 5 6 6 6 5 4 4 5 4 3 7 7 6 7 6 81
Marianne Trésch Romanshorn 05:22 6 7 6 7 6 3 3 5 2 3 7 8 6 5 6 -I:




